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Question paper -
Financial and Cost Accounting I\ ;
1. Purchases of stationaryisan ... expenditure. 2
) a) Capital b) Revenue c) Long-term d) Deferred revenue
- In case of non trading concern the excess of assets over liahilities is termed as
a) Surplus b) Deficit ¢) Capital fund d) Loan
3. When CFosmg Capital is greater than Opening Capital it denotes
a) Profit b) Loss ¢) no profit, no loss d) Assets
4. Tht‘a caplt.al in the beginning of the accounting year is ascertained by preparing
a) Receipt and Payment Alc
b) Cash A/c
c) Statement of Profit or Loss
d) Opening Statement of Affairs
5.

Under Single Entry System, Opening Capital = Opening Assets —.............
a) Closing Assets b) Opening Liabilities c) Opening Assets d) Closing Liabilities
6. Nominal value of shares allotted to the public is called ........... capital.
a) Authorised b) Reserve c) Paid up d) Subscribed
7. If shares are issued at its face value, it is called as issue at
a) Premium b) Discount c) Par d) None of these
8. When shares are forfeited, share capital account is
a) Debited b) Credited c) Adjusted d) None of these

9. ..o is @ acknowledgement of debt under common seal of company.
a) Share b) Debenture c) Cheque d) Bond
10. The debenture holder is ............. of the company.

a) Debtor b) Creditor c) Owner d) Supplier
11. Return outward are deducted from
a) Purchases b) Sales c) Capital d) Debtors
12. The proportion in which old partners make a sacrifice is called...........ratio.
a) Capital b) Gaining c) Sacrifice d) New
13. X, Y and Z are partners sharing profits in the ratio of 5:3:2, if Y retires then new ratio
will be -
a) 5:2 b)5:3 ¢)3:2 d)1:1
14. Gain ratio is calculated on
a) Admission of a partner
b) Retirement of a partner
c) Death of a partner
d) . d) retirement or death of a partner
15. In case of dissolution assets and liabilities are transferred to............ A/c.
a) BankA/c b) Partner’s capital A/c c) Realisation A/c d) Partner’s current A/c
16. Partnership is compulsorily dissolved when the partners of the firm become
a) Solvent b)Insolvent c) Creditor d) None of these
17. All activities of partnership firm cease(stop) on ........... of firm.

a) Dissolution b) Admission c) Retirement d) None of these \W
18. Income and Expenditure Accountis a \3\
a) Capital A/c b)Real A/c c) Personal A/c d) Nominal A/c
19. Excess of income over Expenditure is termed as Commarca o o s Art
a) Deficit b) Profit c) Surplus d) Loss Shendurni<24 7. 15 tamm
20. ‘ Not for Profit’ Concerns prepare......... Account instead of Profit and Loss Account.
a) Trading b) Income and Expenditure c) Cash d) Receipts and Payments
21. A list of balances of all the accounts in ledger is called
a) *Balance sheet b) Profit and loss A/c c) Trading A/c d) Trial Balance
22. Opening stock is entered in a Trading A/c on the............... side.
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23. The Indian Partnership Act is in force since h
a) 1932 b) 1956 c) 1960 d) 1984

24 A p.artner below 18 years of age is called as
a) Active b) Sleeping c¢) Nominal d) Minor

25. Partnership is an association of
3) Two b)Seven c)Ten d)

26. If dates of drawings are not

3) Three b) Six ¢) Nine d)
27. Maximum.._.

...... Or more persons,
Twenty

given, interest on drawings is charged for.......months.
twelve

- PErsons are required to form 3 partnership having Banking business.
a) Two b) seven c) ten d) twenty

28. The gross profit is transferred to.........account.
a) Trading b) Profit and loss c) Capital d) Current
29. Allindirect €xpenses are debited to............ . account.
a) Trading b) Capital c) Profit and loss d) Current
30. A........is an intangible asset.
a) Goodwill b) stock c) Building d) Cash
31. Recording of an entry from journal to ledger is called as
a) ,Balancing b) Posting ) Totaling d) transferring
32. Debtors A/c shows wrnnnen.balance.
a) Debit b) Credit ¢) Nominal d) Real
33. Wages A/c is transferred to EERCRY ¢
a) Trading a/c b) Profit and loss A/c c) Trial Balance d) Any
34. Bank Reconciliation Statement is prepared by
a) Trader b)Bank c) Seller d) Student

35. Bank gives overdraft facility to .............account
a) Savings b) Current c) Fixed deposit d) Recurring
36. A trial balance is list of ............._accounts.

a) Personal b) Real c) Nominal d) Ledger
37. Atrial balance is a
a) Ledger b)lJournal c) Subsidiary d) Statement
38. Rectification entries are passed in
a) Ledger b) Balance sheet c) Cash book d) Journal proper
39. In Straight Line Method of depreciation the amount of depreciation ............ every year.
a) "Remain constant b) Increased c) Fluctuating d) Decreased
40. The amount of depreciation goes on decreasing at the end of waorking life of an asset
a) Fixed instalment b) Straight Line Method c) Revaluation d) Written Down Value
41. Surplus of income over expenses is
a) Loss b)Profit c)Financial Societies d)Trademark
42. Amount which is not receivable from customer is known as
a) Debts b) Debtors c) Bad Debts d) Doubtful debts
43. Money value or the reputation of business is known as
a) Copyright b)Goodwill c) Patents d) Trademark
44. Recording of transactions in the journal is called ;
a) Posting b)Casting c) Tallying d)Journalising 2)(1'9/
45. Goods or Amount taken by proprietor for his personal use should be debited to \}\ =
a) Sales a/c b) Drawings a/c ¢) Purchases a/c d) Cash a/c \ L 2 30
46. An entry recorded on both sides of cash book is known as ppPRB .y ciut
a) Opening b) Rectifying c) Transfer d) Contra
47. Sut;-division of journal is known as
3] Subsidiary b) Purchase returns c) Purchase d) Journal proper
48. The person who draws the cheque and sign on it is the
a) Drawer b) Drawee c)Payee d) All of the above
49. A fixed amount is deposited for a fixed period in depaosit account.
aj Current b) Savings c) Fixed dj recurring
50. Machinery A/c shows ............ balance.

&
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I TSS— is an intangible asset.
a) Goodwill b) stock c) Building d) Cash
2. Return outward are deducted from
a) Purchases b)Sales c) Capital d) Debtors ’
The proportion in which old partners make a sacrifice is called .......rato.
a) Capital b) Gaining c) Sacrifice d) New
4. X, Y and Z are partners sharing profits in the ratio of 5:3:2, if ¥ retires then new ratio
will be -
a) 5:2 b)5:3 c)3:2 d)1:1
5. Gain ratio is calculated on
a) Admission of a partner
b) Retirement of a partner
¢) ,Death of a partner
d) d)retirement or death of a partner
6. In case of dissolution assets and liabilities are transferred to.................. A/c.
a) Bank A/c b) Partner’s capital A/c c) Realisation A/c d) Partner’s current A/c
7. Partnership is compulsorily dissolved when the partners of the firm become
a) Solvent b) Insolvent c) Creditor d) None of these
8. All activities of partnership firm cease(stop) on ............ of firm.
a) Dissolution b) Admission c) Retirement d) None of these
9. Income and Expenditure Account is a
a) Capital A/c b) Real A/c c) Personal A/c d) Nominal A/c
10. Excess of income over Expenditure is termed as
a) Deficit b) Profit c) Surplus d) Loss
11. * Not for Profit’ Concerns prepare

w

........... Account instead of Profit and Loss Account.
a) Trading b) Income and Expenditure c)Cash d) Receipts and Payments

12. Sur'plus of income over expenses is
a) Loss b)Profit c)Financial Societies d)Trademark
13. Amount which is not receivable from customer is known as
a) Debts b) Debtors c) Bad Debts d) Doubtful debts
14. Money value or the reputation of business is known as
a) Copyright b)Goodwill c) Patents d) Trademark
15. Recording of transactions in the journal is called
a) Posting b)Casting c) Tallying d)Journalising
16. Goods or Amount taken by proprietor for his personal use should be debited to
a) Salesa/c b) Drawings a/c c) Purchases a/c d) Cash a/c
17. An entry recorded on both sides of cash book is known as
a) Opening b) Rectifying c) Transfer d) Contra
18. Sub-division of journal is known as
a) ,Subsidiary b) Purchase returns c) Purchase d) Journal proper
19. The person who draws the cheque and sign on it is the
a) Drawer b) Drawee c)Payee d) All of the above
20. A fixed amount is deposited for a fixed period in

a) Current b) Savings c) Fixed d) recurring
21. Machinery A/c shows

................. deposit account.
X

................. balance. \%

a) Credit b) Debit c) Positive d) Negative o 2k
22, Recording of an entry from journal to ledger is called as ghiism |7 & hand

a) Balancing b) Posting c) Totaling d) transferring L4 2ENET
23. Debtors A/cshows............. balance. o o

a) Debit b) Credit c) Nominal d) Real

24. Wages A/cis transferred to



A.R.B.Garud College Shendurni Tal Jamner Dist Jalgaon

Bridge Course — F.Y.B.Com T
2018-19 2TRER

Question paper EON
Financial and Cost Accounting

a) Trading a/c b) Profit and loss A/c c) Trial Balance d) Any | )
25. Bank Reconciliation Statement is prepared by } :
a) Trader b) Bank c) Seller d) Student
26. Bank gives overdraft facility t0......omewes
a) Savings b) Current c) Fixed deposit d) Recurring
27. Atrial balance is list Of ..c.cvovrernnnes accounts.
a) Personal b)Real c) Nominal d) Ledger
28. Atrial balanceis a
a) Ledger b)Journal c) Subsidiary d) Statement
29. Rectification entries are passed in
a) Ledger b)Balance sheet c) Cash book d) Journal proper
30. In Straight Line Method of depreciation the amount of depreciation......... every year.
a) Remain constant b) Increased c) Fluctuating d) Decreased
31. The amount of depreciation goes on decreasing at the end of working life of an asset
a) Fixed instalment b) Straight Line Method ¢) Revaluation d) Written Down Value
32. A list of balances of all the accounts in ledger is called
a) Balance sheet b) Profit and loss A/c c) Trading A/c d) Trial Balance
33. Opening stock is entered in a Trading A/con the....... side.
a) Credit b) Debit c) Assets d) Liabilities
34. The Indian Partnership Act is in force since
a) 1932 b) 1956 c) 1960 d) 1984
35. A partner below 18 years of age is called as
a) Active b)Sleeping c) Nominal d) Minor
36. Partnership is an association of.............. or more persons.
a) ‘Two b)Seven c) Ten d) Twenty
37. if dates of drawings are not given, interest on drawings is charged for ............ months.
a) Three b)Six c) Nine d) twelve
38. Maximum............. persons are required to form a partnership having Banking business.
a) Two b)seven c) ten d) twenty
39. The gross profit is transferred to............. account.
a) Trading b) Profit and loss c) Capital d) Current
40. All indirect expenses are debited to............... account.
a) Trading b) Capital c) Profit and loss d) Current

account.

41. Purchases of stationary is an .................. expenditure.
a) Capital b) Revenue c) Long-term d) Deferred revenue
42. In case of non trading concern the excess of assets over liabilities is termed as
a) Surplus b) Deficit c) Capital fund d) Loan
43. When Closing Capital is greater than Opening Capital it denotes
a) .Profit b) Loss c) no profit, no loss d) Assets
44, The capital in the beginning of the accounting year is ascertained by preparing
a) Receipt and Payment Afc.. b)Cash A/c
b) Statement of Profit or Loss
¢) Opening Statement of Affairs
45. Under Single Entry System, Opening Capital = Opening Assets —..................
a) Closing Assets b) Opening Liabilities c) Opening Assets d) Closing Liabilities
46. Nominal value of shares allotted to the public is called................. capital.
a) Authorised b) Reserve c) Paid up d) Subscribed
47. If shares are issued at its face value, it is called as issue at . pf"bar
a) Premium b) Discount c)Par d) None of these RIS : 2 e
48. When shares are forfeited, share capital account is peo° .
a) Debited b) Credited c) Adjusted d) None of these 2o .
49. ........cc.oo.is 3 acknowledgement of debt under common seal of company. >
a) Share b) Debenture c) Cheque d)Bond
50. Tha debenture holder is ................... of the company.

a)Debtor b) Creditor ¢} Owner d) Supnlier
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1. If dates of drawings are not given, interest on

a) Three b)Six c) Nine d) twelve
2. Maximum

drawings is charged for.............. .months.

.........

persons are required to form a partnership having Banking business.
a) Two b)seven c)ten d) twenty

3. The gross profit is transferred 10, account.
a) Trading b) Profit and loss c) Capital d) Current

4. Allindirect expenses are debited t0...coueeeern@ccount.
a) Trading b) Capital ¢) Profit and loss d) Current
5 A

..................... is an intangible asset.

a) Goodwill b)stock ¢} Building d) Cash

Return outward are deducted from

a) Purchases b) Sales c) Capital d) Debtors

- The proportion in which old partners make a sacrifice is called.............. ratio.
a) Capital b) Gaining c) Sacrifice d) New

X, Y and Z are partners sharing profits in the ratio of 5:3:2, if Y retires then new ratio
will be -

a) 5:2 b)5:3 ¢)3:2 d)1:1
9. Gain ratio is calculated on
a) *Admission of a partner
b) Retirement of a partner
c) Death of a partner
d) d)retirement or death of a partner
10. In case of dissolution assets and liabilities are transferred to .............. Afc.
a) Bank A/c b) Partner’s capital A/c c) Realisation A/c d) Partner’s current A/c
11. Partnership is compulsorily dissolved when the partners of the firm become
a) Solvent b)Insolvent c) Creditor d) None of these
12. All activities of partnership firm cease(stop) on............. of firm.
a) Dissolution b) Admission c) Retirement d) None of these
13. Income and Expenditure Account is a
a) Capital A/c b) Real A/c c) Personal A/c d) Nominal A/c
14. Excess of income over Expenditure is termed as
a) Deficit b) Profit c) Surplus d) Loss

o

~J

00

15.  Not for Profit’ Concerns prepare ................Account instead of Profit and Loss Account.
a) Trading b) Income and Expenditure c) Cash d) Receipts and Payments
16. Purchases of stationary is an................ expenditure.

a) Capital b) Revenue c) Long-term d) Deferred revenue
17. In case of non trading concern the excess of assets over liabilities is termed as
a) Surplus b) Deficit c) Capital fund d) Loan
18. When Closing Capital is greater than Opening Capital it denotes
a) Profit b) Loss c) no profit, no loss d) Assets
19. The capital in the beginning of the accounting year is ascertained by preparing
a) Receipt and Payment A/c
b) Cash A/c
c) Statement of Profit or Loss
d) Opening Statement of Affairs

20. Ungler Single Entry System, Opening Capital = Opening Assets —.......cc.ccces

a) Closing Assets b) Opening Liabilities c) Opening Assets d) Closing Liabilities &9{
21. Nominal value of shares allotted to the public is called capital. Q&-

a) Authorised b) Reserve c) Paid up d) Subscribed Priro

22. If shares are issued at its face value, it is called as issue at App
a1 Praminm b Nicrannt ) Par d) None of these
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23. When shares are forfeited, share capital account is
a) Debited b) Credited c) Adjusted d) None of these L
24. .ccccovivenen 1S @ acknowledgement of debt under common seal of company.
a) Share b) Debenture c) Cheque d)Bond
25. The debenture holder is.................. of the company.
a) Debtor b) Creditor c) Owner d) Supplier
26. Surplus of income over expenses is
a) Loss b)Profit c)Financial Societies d)Trademark
27. Amount which is not receivable from customer is known as
a) Debts b) Debtors c) Bad Debts d) Doubtful debts
28. Money value or the reputation of business is known as
a) Copyright b)Goodwill c) Patents d) Trademark
29. Recording of transactions in the journal is called
a) Posting b)Casting c) Tallying d)Journalising
30. Gogds or Amount taken by proprietor for his personal use should be debited to
a) Salesa/c b)Drawings a/c c) Purchases a/c d) Casha/c
31. An entry recorded on both sides of cash book is known as
a) Opening b) Rectifying c) Transfer d) Contra
32. Sub-division of journal is known as
a) Subsidiary b) Purchase returns c) Purchase d)Journal proper
33. The person who draws the cheque and sign on it is the
a) Drawer b)Drawee c)Payee d) All of the above
34. A fixed amount is deposited for a fixed period in deposit account.
a) Current b) Savings c) Fixed d) recurring
35. Machinery Afc ShOws ............... balance.
a) Credit b) Debit c) Positive d) Negative
36. Recording of an entry from journal to ledger is called as
a) Balancing b) Posting c) Totaling d) transferring
37. Debtors Afc shows..........c.... balance.
a) Debit b) Credit c) Nominal d) Real
38. Wa;;es A/cis transferred FO.oisasissinines Y Ce
a) Trading a/c b) profit and loss A/c c) Trial Balance d) Any
39. Bank Reconciliation Statement is prepared by
a) Trader b)Bank c) Seller d) Student

40. Bank gives overdraft facility t0...c.ccccoeeevsenn account.
a) Savings b) Current c) Fixed deposit d) Recurring
41. A trial balance is list Of w.occiinirsneenes accounts.

a) Personal b)Real c) Nominal d) Ledger
42. Atrial balance is a
a) Ledger b) Journal c) Subsidiary d) Statement

43, Rectification entries are passed in
a) Ledger b)Balance sheet c) Cash book d) Journal proper
44. In Straight Line Method of depreciation the amount of depreciation...........every year.
a) Remain constant b) Increased c) Fluctuating d) Decreased
45. The amount of depreciation goes on decreasing at the end of working life of an asset
a) *Fived instalment b) Straight Line Method ¢) Revaluation d) Written Down Value
46. A list of balances of all the accounts in ledger is called
a) Balance sheet b) Profit and loss A/c c) Trading A/c d) Trial Balance
47. Opening stock is entered in a Trading A/con the..........slde.
a) Credit b) Debit c) Assets d) Liabilities

48. The Indian Partnership Act is in force since - el
a) 1932 b) 1956 c) 1960 d) 1984 s o4 Tarud Art's

: i . College

Ceri Tl et Jamnes

49. A partner below 18 years of age is called as
a) Active b)Sleeping c) Nominal d) Minor

50. Partnership is an association of.............Or more persons.
a) Two b)Seven c) Ten d) Twenty
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Financlal and Cost Accounting

The debenture holder is.....e.. Of the company.
a) Debtor b) Creditor ¢) Owner d) Supplier L
s 18 @ aCknowledgement of debt under common seal of company.

a) Share b) Debenture c) Cheque d) Bond

Nominal value of shares allotted to the public is called ... capital,

a) Authorised b) Reserve c) Paid up d) Subscribed

Under Single Entry System, Opening Capital = Opening ASSets =i

a) Closing Assets b) Opening Liabilities ¢) Opening Assets d) Closing Liabilities
The capital in the beginning of the accounting year is ascertained by preparing
a) Receipt and Payment A/c

b) Cash A/c

c) Statement of Profit or Loss

d) Opening Statement of Affairs

When Closing Capital is greater than Opening Capital it denotes

a) Profit b) Loss c) no profit, no loss d) Assets

In case of non trading concern the excess of assets over liabilities is termed as
a) Surplus b) Deficit ¢) Capital fund d) Loan

Purchases of stationary is an............. expenditure.
a) Capital b) Revenue c) Long-term d) Deferred revenue
Purchases of stationary is an ... expenditure.

b) Capital b)Revenue c) Long-term d) Deferred revenue

“ Not for Profit’ Concerns prepare. ... Account instead of Profit and Loss Account.
a) Trading b) Income and Expenditure c) Cash d) Receipts and Payments
Excess of income over Expenditure is termed as

a) Deficit b) Profit c) Surplus d) Loss

Income and Expenditure Account is a

a) Capital A/c b) Real A/c ¢) Personal A/c d) Nominal A/c

All activities of partnership firm cease(Stop) On ... OF firm.

a) Dissolution b) Admission c) Retirement d) None of these

partnership is compulsorily dissolved when the partners of the firm become

a) Solvent b) Insolvent c) Creditor d) None of these

In case of dissolution assets and liabilities are transferred to v/

a) BankA/c b) Partner’s capital A/c c) Realisation A/c d) Partner’s current A/c
Gain ratio is calculated on

a) Admission of a partner

b) Retirement of a partner

¢) Death of a partner

d) d)retirementor death of a partner
X, Y and Z are partners sharing profits in the ratlo of 5:3:2, if Y retires then new ratio will be

a) 5:2 b)5:3 c)3:2 d) 1:1
The proportion in which old partners make a sacrifice is called ...connes, Tatio.

a) Capital b) Gaining c) Sacrifice d) New
Return outward are deducted from
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Financial and Cost Accounting
&3
a) Purchases b) Sales c) Capital d) Debtors s - .
A oo, 18 @0 intangible asset. N ST '
a) -Gctodwill b) stock c) Building d) Cash i 0T
All indirect expenses are debited to................ account.
a) Trading b) Capital c) Profit and loss d) Current
The gross profit is transferred to ............. account.
a) Trading b) Profit and loss c) Capital d) Current
Maximum............. persons are required to form a partnership having Banking business.
a) Two b)seven c)ten d) twenty
If dates of drawings are not given, interest on drawings is charged for............ months.
a) Three b)Six c) Nine d) twelve
Partnership is an association of.covvee or more persons.
a) Two b) Seven c) Ten d) Twenty
A partner below 18 years of age is called as
a) Active b) Sleeping c) Nominal d) Minor
The Indian Partnership Actis in force since
a) 1932 b) 1956 c) 1960 d) 1984
Opening stock is entered in a Trading A/c on the.....en.. SiE.
a) Credit b) Debit c) Assets d) Liabilities
A list of balances of all the accounts in ledger is called
a) Balance sheet b) Profit and loss Afc c) Trading Afc d) Trial Balance
The amount of depreciation goes on decreasing at the end of working life of an asset
a) Fixed instalment b) Straight Line Method ¢) Revaluation d) Written Down Value
The amount of depreciation goes on decreasing at the end of working life of an asset
b) Fixed instalment b) Straight Line Method c) Revaluation d) Written Down Value
Rectification entries are passedin
a) Ledger b) Balance sheet ¢) Cash book d) Journal proper
A trial balance is 3
a) Ledger b) Journal ¢) Subsidiary d) Statement
A trial balance is list of ena@ccounts.
a) Personal b) Real ¢) Nominal d) Ledger
Bank gives overdraft facility 10.eeeeeees account.
a) Savings b) Current ¢} Fixed deposit d) Recurring
Bank reconciliation Statement is prepared by
a) Trader b) Bank ¢) seller d) Student
Wages A/cis transferred 10w Afc.
a) Trading a/c b) profit and loss A/c ¢ Trial Balance d) Any

Debtors A/C SHOWS coecereeeee balance.
a) Debit b) Credit ¢) Nominal d) Real

Recording of an entry from journal to ledger is called as

a) Balancing b) Posting ¢ Totaling d) transferring

_ Machinery A/C shows............‘...balancei.

a) Credit b) Debit c) Positive d) Negative
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Purchases of stationary is an .......... expenditure / ."/

a) Capital b) Revenue c) Long-term d) Deferred revenue NG //

In case of non trading concern the excess of assets over liabilities is termed asi“ﬂ/
a) Surplus b) Deficit c) Capital fund d) Loan
When Closing Capital is greater than Opening Capital it denotes
a) Profit b) Loss c) no profit, no loss d) Assets
The capital in the beginning of the accounting year is ascertained by preparing
a) “Receipt and Payment A/c
b) Cash A/c
¢) Statement of Profit or Loss
d) Opening Statement of Affairs
Under Single Entry System, Opening Capital = Opening Assets —.............
a) Closing Assets b) Opening Liabilities ¢) Opening Assets d) Closing Liabilities
Nominal value of shares allotted to the public is called ........... capital.
a) Authorised b) Reserve c) Paid up d) Subscribed
If shares are issued at its face value, it is called as issue at
a) Premium b) Discount c) Par d) None of these
When shares are forfeited, share capital account is
a) Debited b) Credited c) Adjusted d) None of these
.............. is a acknowledgement of debt under common seal of company.
a) Share b) Debenture ¢) Cheque d) Bond
The debenture holder is ............. of the company.
a) Debtor b) Creditor c) Owner d) Supplier
Return outward are deducted from
a) Purchases b) Sales c) Capital d) Debtors
The proportion in which old partners make a sacrifice is called........... ratio.
a) Capital b) Gaining c) Sacrifice d) New

X, Y and Z are partners sharing profits in the ratio of 5:3:2, if Y retires then new ratio
will be -
a) 5:2 b)5:3 c)3:2 d) 11
Gain ratio is calculated on
a) Admission of a partner
b) Retirement of a partner
c) Death of a partner
d) . d) retirement or death of a partner
In case of dissolution assets and liabilities are transferred to............ A/c.
a) BankA/c b) partner’s capital A/c c) Realisation A/c d) Partner’s current A/c
Partnership is compulsorily dissolved when the partners of the firm become
a) Solvent b) Insolvent c) Creditor d) None of these
All activities of partnership firm cease(stop) ON ... of firm.
a) Dissolution b) Admission c) Retirement d) None of these

enditure Account isa

:;cog;::f;\izpb) Real A/C ) perso'nal A/c d) Nominal A/c
Excess of income over Expenditure 15 termed as
a) Deficit b) Profit c) Surplus d) Loss
‘ Not for Profit’ Concerns prepare......

b) Income and Expendi
Wl | the accounts In ledger is called

Account instead of Profit and Loss Account.

A list of balances of al

a) *Balance sheet b) Profit and loss Afc c) Trading Afc d) Lrlal Balance

Opening stock is entered in a Trading A/ 0N the..en SIAE: Y

a) Credit b) Debit c) Assets d) Liabilities — :
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